("am) A" 'own 2, e TR L7"02

This one whose 1852 feeds her 772190 — 7721902 INDIORMD IAR2AY 1T

OVERVIEW'

X1°27 maintains that the discussion between 2"22 71177° and 2"27 including the
1"p of 2"21 is concerning 1N NP°IR of an 701X even 12771, X1°21 shows
(according to the previous X1°27 7"7 N190IN), that both 223 71171° and 227 can
agree that 7w PO1R AX°2. Our MdOIN introduces other ways of interpreting
this 1" according to X1°21.

— 19912709 199U NYT 111 NNYY K917 NDIWD NNYIAT DIVNPN U
>'"w1 explained that by nRw»z it is obvious that she eats 72170, for all agree

that we are not concerned for a 92%99 if she is nxw°1. The reason is -
—1HY Y27 Y19 1913 19 ON NYN 9192 NV DIN PNT

Because (allegorically) a person does not drink from a cup unless he
checks it and knows what is there and accepts whatever may be there
upon himself.

mooin disagrees with >"wA:
— NNYIII Y9NT D90 V9V NN DY)

And it is difficult that which >"w= explained that nn%Ox»n 7nX°2 is

referring to a X1 -
— >nYIY POIPNRT INX 2UY X329 N3 NY XY

For X129 is only coming to explain how we can maintain that 3819 X2

AWV in the dialogue between 2"2 1171 and 2"2°7! According to >"w7 however there is no
indication that either maintains 72V PPO1R X2,

mooIN justifies "wID:
— NYINT 1Y VIV PNIYIIAT 9351 9D 9INP 1INT YD YN

And we can explain it that this is what "1 means; just as by a aRw1 it is

obvious that she eats 1 n -
— P12 19 ON NYN D192 AV DN PPNT 111 Nnby S99

For everyone agrees that 12712 5" XX ©152 710" Q7R PR, therefore -
— T NP INYIYA NYIY BTN PRI NPT 19 ON NN 199 N2 19N 93 N

!'See ‘Overview’ (and mpoIN) to previous X1°27 7"7 N1HOIN.

* It appears from "1 that 7in9°2Xn X2 refers to a AXWwI and not to an 701X, The 1" would be similar to
that of »"217 except that here we are discussing 7270 n?°3x for an 701N even 1312777 (as opposed to "7
who is discussing 7170 17°2X by an Xn>>7X771 701IR). MooN will reject this explanation.

? Otherwise what does X127 accomplish with his interpretation over >"217. See previous X1°27 71"7 MDON
(and) footnotes # 1 & 6.
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("27) 7 a"7 'on 2, PR L7023

Here too by an *3017X he is not 79y X2 for Pw17°p unless he checks her out

previously for m for a person does not want to make his 7%°v2 a n»pa
5

nus.

mooin offers an alternate interpretation of the 1" according to X1°27:
— 99NRP 21T VY9 ‘9581 19929 39

And the 2'"9977 explained that this is what X1°27 meant with the 1"p -
— 1NN P IPAN INYINA ANDIND NNNYA PNY NHIPI NNAY NN

What if by a >"w that 7nX°2 is not 721 n2 7nYaR% even N7 3%,
nevertheless -
— 1929 129N NNDIINNI NODD

DTS is INDIDNRM even 33077, therefore it follows that -
— 13297 Y7°9N NNIIINN NOVIY 7 ION 9990 1 ANDIINND NHNAY 1N

This 7017% where 711702 7n9"R% AR2 (at least) 7707 9, is it not obvious

that 71902 should be 711702 TN 287 even 12772 (no less than a 2"v) -
5: 1010 519 HY NYW ANYAA 999Y $9591)

And the 1"p, when it mentions 7n2°2X&n 7nX°2, is indeed discussing a 18°2
that is not associated with 75.

SUMMARY

The 1"p (according to ¥1°27) is from 7°017°X NX*2 (even according to >"'w") that
is m17N2 9°0Kkn even 132771, Alternately; the 1"p is from 017X nX°a which is
RNTIRTA 71N ORA.

THINKING IT OVER
Is 73297 71702 270K POIK NR°2 according to 3232 72 1M?

* Therefore the expression 7n2°2Xn 7NX*2W 1 is referring (even according to *"@7) to a WY [OMK NX°a
YR, where it is 7w 1017°X. The reason *"'w1 mentions X1 is to explain why there is no wwn of 1191°0;
this reason applies to a 7"017°X nNX°2 as well.

> He is ?712 initially to make sure she has no 7" which would cause him to retract from the w17°p which
in turn will make this 7%°2 (not a 1w’ awh X2 but rather) a M7 nX»a (which he does not want). 1O
(and ""w") does not mention this idea of mir n?°y2 previously when discussing X1, for PRI can occur
with 70> and 791 without X2,

6 See 1272 MNNdHA N7 170.

7 According to the "7 there is no presumption (prior to the 1"7) that an 7701I% [even through ax°2] is N2
112771 N2 (there is only the presumption that any 701K is RD™7IXTA 7702 n291). However once we
derive that an 7032 01X eats MN even 112777 (from a 3"wn 1"P) and there is no concern of 11970, then
certainly by 1%°2 "w11°p, where there is less 1992°0 wwn, she is N9,

¥ See X"wam that according to the 2" the addition of X327 is that the X7 10 is discussing 7911 "y Xow.
(According to [n1901n understanding of] >"w7 however there is an additional advantage that we cannot ask
X7 10K 17 according to RX1°27.)
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